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Intex

1. Which of the ores mentioned in table in Table can

be concentrated by magnetic separation method?

View Text Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_txeSrMNrN9hO


2. What is the significance of leaching in the

extraction of aluminium?

Watch Video Solution

3. The reaction 

Cr2O3 + 2A < oAl2O3 + 2Cr 

( △ Gɵ = − 421kJ)) 


Is thermodynamically feasible as is apparent from

the Gibbs energy value. Why does it not take place

at room temperature?

W h Vid S l i

https://dl.doubtnut.com/l/_txeSrMNrN9hO
https://dl.doubtnut.com/l/_avUzDHTYGyeE
https://dl.doubtnut.com/l/_Z23ODcfTvnGm


Watch Video Solution

4. It is true that under certain condition, Mg can

reduce Al2O3 and Al can reduce MgO? What are

those conditions?

Watch Video Solution

5. Why are pentahalides more covalent than

trihalides?

Watch Video Solution

https://dl.doubtnut.com/l/_Z23ODcfTvnGm
https://dl.doubtnut.com/l/_QRMvD3G5sp3d
https://dl.doubtnut.com/l/_PzutOsAhifLk


6. Why is BiH3 the strongest reducing agent

amongst all the hydrides of group 15 elements?

Watch Video Solution

7. Why is N2 less reactive at room temperature?

Watch Video Solution

8. Mention the conditions required to maximise the

yield of ammonia.

Watch Video Solution

https://dl.doubtnut.com/l/_qUmMszmqnpBF
https://dl.doubtnut.com/l/_DbohxPGhWsG1
https://dl.doubtnut.com/l/_BYj6kmC7eO53


9. When an excess of ammonia solution is added to

CuSO4 which solution is formed 


(a) [Cu(NH3)2]
2+  


(b) [Cu(NH3)4]
⊕  


(c ) [Cu(NH3)2]
⊕  


(d) [Cu(NH3)4]
2+  .

Watch Video Solution

10. What is the covalence of nitrogen in N2O5?

Watch Video Solution

https://dl.doubtnut.com/l/_BYj6kmC7eO53
https://dl.doubtnut.com/l/_wunwdtyMHGmY
https://dl.doubtnut.com/l/_7JMl5gkolZTl


11. Bond angle in PH ⊕
4  is higher than that in PH3

Why?

Watch Video Solution

12. What happens when white phosphorus is

heated with concentrated NaOH solution in an

inert atmosphere of CO2?

Watch Video Solution

13. What happens when PCl5 is heated?

https://dl.doubtnut.com/l/_dv5UzlQWOXXn
https://dl.doubtnut.com/l/_Ru6Gq6xIaAOX
https://dl.doubtnut.com/l/_xWPSEGFAvZMh


Watch Video Solution

14. Write a balanced equation for the hydrolytic

reaction of PCl5 in heavy water.

Watch Video Solution

15. What is the basicity of H3PO4?

Watch Video Solution

16. What happens when H2PO3 is heated?

https://dl.doubtnut.com/l/_xWPSEGFAvZMh
https://dl.doubtnut.com/l/_dWJ3IMo8ur36
https://dl.doubtnut.com/l/_Owb9jN032vSA
https://dl.doubtnut.com/l/_2vXx8OQYwTZe


Watch Video Solution

17. List the important sources of sulphur.

Watch Video Solution

18. Write the order of thermal stability of the

hydrides of group 16 elements.

Watch Video Solution

19. Why is H2O a liquid and H2S a gas?

W t h Vid S l ti

https://dl.doubtnut.com/l/_2vXx8OQYwTZe
https://dl.doubtnut.com/l/_ZM09th09buIF
https://dl.doubtnut.com/l/_88lsUuJeAgqn
https://dl.doubtnut.com/l/_JyErp8NgO5o2


Watch Video Solution

20. Which of the following does not react with

oxygen directly? Zn, Ti, Pt, Fe.

Watch Video Solution

21. Complete the following reaction 

(i). C2H4 + O2 →  


(ii). 4Al + 3O2 →

Watch Video Solution

https://dl.doubtnut.com/l/_JyErp8NgO5o2
https://dl.doubtnut.com/l/_6CK74pF6Vssl
https://dl.doubtnut.com/l/_O7WarBhR17Xw


22. Why does O3 act as a powerful oxidising agent?

Watch Video Solution

23. How is O3 estimated quantitavely?

View Text Solution

24. What happens when sulphur dioxide is passed

through an aqueous solution of Fe(III) salt?

Watch Video Solution

https://dl.doubtnut.com/l/_Tu1ben1qOcK4
https://dl.doubtnut.com/l/_gmFBjJldYNlF
https://dl.doubtnut.com/l/_v6Sa3OnN9jBK
https://dl.doubtnut.com/l/_seSDdMGq4Ewt


25. Comment on the nature of two S-O bonds

formed In SO2 molecule. Are the two S − O bonds

in this molecule equal?

View Text Solution

26. How is the presence of SO2 detected?

Watch Video Solution

27. Mention three areas in which H2SO4 plays an

important role.

https://dl.doubtnut.com/l/_seSDdMGq4Ewt
https://dl.doubtnut.com/l/_WWqekwUIqTvl
https://dl.doubtnut.com/l/_d5gawYdbspQX


Watch Video Solution

28. Write the conditions to maximise the yield of

H2SO4 by contact process.

Watch Video Solution

29. Why is Ka2 < < Ka1  for H2SO4 in water?

Watch Video Solution

30. Considering the parameters such as bond

dissociation enthalphy, electron gain enthalpy and

https://dl.doubtnut.com/l/_d5gawYdbspQX
https://dl.doubtnut.com/l/_g8rpMpfpZicB
https://dl.doubtnut.com/l/_2DsI1CBp6Wm2
https://dl.doubtnut.com/l/_UwzldG87X5w9


hydration entalpy, compare the oxidising power of

F2 and Cl2.

View Text Solution

31. Give two examples to show the anomalous

behavious of fluorine.

Watch Video Solution

32. Sea is the greatest source of some halogens.

Comment.

Watch Video Solution

https://dl.doubtnut.com/l/_UwzldG87X5w9
https://dl.doubtnut.com/l/_7nzsmbAP4NKf
https://dl.doubtnut.com/l/_MkPtyZGfRnbw


33. Give the reason for bleaching action of Cl2.

Watch Video Solution

34. Name two poisonous gases which can be

prepared from chlorine gas.

Watch Video Solution

35. Why is ICI more reactive than I2?

Watch Video Solution

https://dl.doubtnut.com/l/_MkPtyZGfRnbw
https://dl.doubtnut.com/l/_xJhTNOJxg4A9
https://dl.doubtnut.com/l/_E1Dk58MbmTua
https://dl.doubtnut.com/l/_1gueAIIFZPWg


36. Why is helium used in diving apparatus?

Watch Video Solution

37. Balance the following equation: 

XeF6 + H2O → XeO2F2 + HF

Watch Video Solution

38. Why has it been difficult to study the chemistry

of radon?

https://dl.doubtnut.com/l/_1gueAIIFZPWg
https://dl.doubtnut.com/l/_U39mnuxv3Cli
https://dl.doubtnut.com/l/_Eay8x6Y4prYx
https://dl.doubtnut.com/l/_mZoQ70ii49No


Watch Video Solution

39. Silver atom has completely filled d orbitals 

(4d10) in its ground state. How can you say it is a

transition element?

Watch Video Solution

40. In the series Sc(Z = 21) to Zn(Z = 30) the

enthalpy of atomisation of zinc is the lowest, i.e.,

126 kJ mol−1. Why?

Watch Video Solution

https://dl.doubtnut.com/l/_mZoQ70ii49No
https://dl.doubtnut.com/l/_a3J7bzYGpcKv
https://dl.doubtnut.com/l/_NDlcQbtzRBtq


41. Which of the 3d-seres of the transition metals

exhibits the largest number of oxidation states ?

Watch Video Solution

42. The E0(M 2+ /M) value for copper is positive 

( + 0.34V ). What is possibly the reason for this?

Watch Video Solution

43. How would you account for the irregular of

ionisation enthalpies (first) in the first series of the

https://dl.doubtnut.com/l/_wsFEqkMGXcgG
https://dl.doubtnut.com/l/_YEGwBqSSrb08
https://dl.doubtnut.com/l/_ym8qPpGiDZUV


transition elements?

Watch Video Solution

44. Why is the highest oxidation state of a metal

exhibited in its oxide or fluoride only?

Watch Video Solution

45. Which is a stronger reducing agent Cr2+  or 

Fe2+  and why?

Watch Video Solution

https://dl.doubtnut.com/l/_ym8qPpGiDZUV
https://dl.doubtnut.com/l/_W2zFaGd311b7
https://dl.doubtnut.com/l/_NDXQkumpohhY


46. Calculate the spin only magentic moment of

M 2+  ion (Z = 27).

Watch Video Solution

47. Explain why Cu+  ion is not stable in aqueous

solutions ?

Watch Video Solution

48. Give reason. (a) Cerium (Ce) exhibits +4

oxidation state.(b) Actinoid contraction is greater

https://dl.doubtnut.com/l/_Jn8gnmdGLeuJ
https://dl.doubtnut.com/l/_qwhos7P6GiSV
https://dl.doubtnut.com/l/_RhSfEbTwMe6y


from element to element than lanthanoid

contraction.

Watch Video Solution

49. Wrtie the formulas for the following

coordination compounds: 

(i). Tetraamminediaquacobalt(III) chloride. 

(ii). Potassium tetracyanidonichelate(II). 

(iii). Tris(ethane-1,2-diamine) chromium(III) chloride. 

(iv) Amminebromidochloridonitrito-N-Platinate(II). 

(v). Dichlororidobis (ethane-1,2-diamine)

https://dl.doubtnut.com/l/_RhSfEbTwMe6y
https://dl.doubtnut.com/l/_757FwNk2E20x


platinum(IV) nitrate. 

(vi). Iron(III) hexacyanidoferrate(II).

Watch Video Solution

50. Write the IUPAC names for the following

coordination compounds: 

(i). [Co(NH3)6]Cl3 


(ii). [Co(NH3)5Cl]Cl2 


(iii). K2[Fe(CN)6] 


(iv). K3[Fe(C2O4)3] 


(v). K2[PdCl4] 


(vi). [Pt(NH3)2Cl(NH2CH3)]Cl

W h Vid S l i

https://dl.doubtnut.com/l/_757FwNk2E20x
https://dl.doubtnut.com/l/_IC9R3FPHPaYM


Watch Video Solution

51. Indicate the types of isomerism exhibited by the

following complexes and draw the structures for

these isomers: 

(i). K[Cr(H2O)2C2O3)2] 


(ii). [Co(en)3]Cl3 


(iii). [Co(NH3)5(NO2)](NO3)2 


(iv). Pt[(NH3)(H2O)Cl2]

View Text Solution

https://dl.doubtnut.com/l/_IC9R3FPHPaYM
https://dl.doubtnut.com/l/_wKokntrwTDAK


52. Give evidence that [Co(NH3)5Cl]SO4 and 

[Co(NH3)5SO4]Cl are ionisation isomers.

Watch Video Solution

53. Explain the following giving reasons 

(a) [NiCI4]
2−  is tetrahedral and paramagnetic

whereas [Ni(CN)4]
2−  is square plannar and

dimagnetic 

(b) [Fe(H2O)6]
3+  ion is more paramagnetic than

[Fe(CN)6]
3−  ion 


(c ) Ni(CO)4 is tetrahedral while [Ni(CN)4]
2−

ion is square planar 

https://dl.doubtnut.com/l/_HPCHJb9vC37j
https://dl.doubtnut.com/l/_rzgaLPlfB6Yo


(d) [Co(F6)]
3−  is a high spin complex whereas 

[Co(CN)6]
3−  ion is a low spin complex .

Watch Video Solution

54. Give reason for the fact that amongst

Ni(CO)4, [Ni(CN)4]
2−  and NiCI

2−
4 :Ni(CO)4

and [Ni(CN)4]
2−  are diamagnetic whereas

[NiCI4]
2 is paramagnetic.

Watch Video Solution

https://dl.doubtnut.com/l/_rzgaLPlfB6Yo
https://dl.doubtnut.com/l/_Khb76J3fECbw


55. [Fe(H2O)6]
3+  is strongly paramagnetic

whereas [Fe(CN)6]
3−  is weakly paramagnetic.

Explain.

Watch Video Solution

56. Explain [Co(NH3)6]
3+  is an inner orbital

complex whereas [Ni(NH3)6]
2+  is an outer

orbital complex.

Watch Video Solution

https://dl.doubtnut.com/l/_4wxHFJqmeQ2R
https://dl.doubtnut.com/l/_o0umWTJ8JMro


57. Predict the number of unpaired electrons in the

square planar [Pt(CN)4]
2−  ion.

Watch Video Solution

58. The hexaquo manganese(II) ion contains five

unpaired electrons, while the hexacyanoion

contains only one unpaired electron. Explain using

the crystal field theory.

Watch Video Solution

https://dl.doubtnut.com/l/_mwpTQBn5R5RB
https://dl.doubtnut.com/l/_1d0ASZjAHlaj


Exercises

59. Calculate the overall complex dissociation

equilibrium constant for the [Cu(NH3)4]
2+  ion,

given that β4 for this complex is 2.1 × 1013

Watch Video Solution

1. Copper can be extracted by hydrometallurgy but

not zinc. Explain?

View Text Solution

https://dl.doubtnut.com/l/_ybq6xnwqQnEn
https://dl.doubtnut.com/l/_iVDbNifFiXQe
https://dl.doubtnut.com/l/_C3ooN0e20uXi


2. What is the role of depressant in froth floatation

process?

Watch Video Solution

3. Why is the extraction of copper from pyrites

more difficult than that from its oxide ore through

reduction?

Watch Video Solution

4. Explain: 

(i). Zone refining 

https://dl.doubtnut.com/l/_C3ooN0e20uXi
https://dl.doubtnut.com/l/_k4JzeqrmSukR
https://dl.doubtnut.com/l/_vDOQP7bXLW9G


(ii). Column chromatography.

Watch Video Solution

5. Out of C and CO, which is a better reducing agent

at 673K?

Watch Video Solution

6. Name the common elements present in the

anode mud in electrolytic refining of copper. Why

are they so present?

Watch Video Solution

https://dl.doubtnut.com/l/_vDOQP7bXLW9G
https://dl.doubtnut.com/l/_JU9BOl7fFNhp
https://dl.doubtnut.com/l/_edoJe7eN0dsc


7. Write down the chemical reactions taking place

in the extraction of zinc from zinc blende.

Watch Video Solution

8. State the role of silica in the metallurgy of

copper.

Watch Video Solution

9. What is meant by the term "chromatography"?

https://dl.doubtnut.com/l/_edoJe7eN0dsc
https://dl.doubtnut.com/l/_1f2ncNAsdkJ5
https://dl.doubtnut.com/l/_pOIU9l7pWp60
https://dl.doubtnut.com/l/_ghArX2UTN5eh


Watch Video Solution

10. What criterion is followed for the selectrion of

the stationary phase in chromatography?

Watch Video Solution

11. Describe a method for refining nickel.

Watch Video Solution

https://dl.doubtnut.com/l/_ghArX2UTN5eh
https://dl.doubtnut.com/l/_kpXJdk0kquwK
https://dl.doubtnut.com/l/_CWw6xqxZG7K4


12. How can you separate alumina from silica in a

bauxite ore associated with silica? Give equations,

if any.

Watch Video Solution

13. Giving examples differentiate between roasting

and calcination.

Watch Video Solution

14. How is cast iron different from pig iron?

https://dl.doubtnut.com/l/_OfO82qJ3QTYd
https://dl.doubtnut.com/l/_HyCmJ1Cl0SRF
https://dl.doubtnut.com/l/_ZoHjKKrO3Zlk


View Text Solution

15. Differentiate between minerals and ores.

View Text Solution

16. Why copper matte is put in silica lined

converter?

View Text Solution

https://dl.doubtnut.com/l/_ZoHjKKrO3Zlk
https://dl.doubtnut.com/l/_ciWj6dSdl8yZ
https://dl.doubtnut.com/l/_FfJinTQ4v7tb


17. What is the role of cryolite in the metallurgy of

aluminium?

Watch Video Solution

18. How is leaching carried out in case of low grade

copper ores?

Watch Video Solution

19. Why is zinc not extracted from zinc oxide

through reduction using CO?

https://dl.doubtnut.com/l/_3YUjth8TElfq
https://dl.doubtnut.com/l/_VeTZGN6Eau7F
https://dl.doubtnut.com/l/_ohUgySjED5oJ


Watch Video Solution

20. The value of

△f Gɵ (Cr2O3) = − 540kJmol−1 and 

△f Gɵ (Al2O3) = − 827kJmol−1. Is reduction

of Cr2O3 possible with Al?

Watch Video Solution

21. Out of C and CO, which is a better reducing

agent at 673K?

Watch Video Solution

https://dl.doubtnut.com/l/_ohUgySjED5oJ
https://dl.doubtnut.com/l/_s3IMv8fSym22
https://dl.doubtnut.com/l/_LF1ZYtxxyUNy


22. The choice of a reducing agent in a particular

case depends on thermodynamic factor. How far do

you agree with this statement ? Support your

opinion with example.

Watch Video Solution

23. What is the role of graphite rod in the

electrometallurgy of aluminium?

View Text Solution

https://dl.doubtnut.com/l/_RokN3fxpLOXv
https://dl.doubtnut.com/l/_5cH0By4IWyZS


24. Outline the principles of refining of metals by

the following methods : 

(a) Electrolytic refining 

(b) Zone refining 

( c) Vapour phase refining.

Watch Video Solution

25. Predict conditions under which Al might be

expected to reduce MgO.

Watch Video Solution

https://dl.doubtnut.com/l/_VwS5J7sR863d
https://dl.doubtnut.com/l/_DsZbBmAK89Zt
https://dl.doubtnut.com/l/_hMdLvAqNvuzz


26. Why does the reactivity of nitrogen differ from

phosphorus?

Watch Video Solution

27. Discuss the trends in chemical reactivity of

group 15 elements.

Watch Video Solution

28. Why does NH3 form hydrogen bond but PH3

does not?

Watch Video Solution

https://dl.doubtnut.com/l/_hMdLvAqNvuzz
https://dl.doubtnut.com/l/_1mZGbGHtUln5
https://dl.doubtnut.com/l/_kJ7v7Q7pf9yQ


29. How is nitrogen prepared in the laboratory?

Write the chemical equations of the reactions

involved.

Watch Video Solution

30. How is ammonia manufactured industrially?

Watch Video Solution

https://dl.doubtnut.com/l/_kJ7v7Q7pf9yQ
https://dl.doubtnut.com/l/_IOWA6VMyCTZH
https://dl.doubtnut.com/l/_ZVulGmCUapQo


31. Illustrate how copper metal can give different

product on reaction with HNO3.

Watch Video Solution

32. Give the resonating structures of NO2 and 

N2O5.

Watch Video Solution

33. The HNH angle value is higher than HPH, HAsH

and HSbH angles. Why?

https://dl.doubtnut.com/l/_ILwVwIqXpvW8
https://dl.doubtnut.com/l/_AlT3WFb8lqi3
https://dl.doubtnut.com/l/_8ouc3bfi85Kl


Watch Video Solution

34. Why does R3P = 0 exist but R3N = 0 does

not (R =  alkyl group)?

Watch Video Solution

35. Explain why NH3 is basic while BiH3 is only

feebly basic ?

Watch Video Solution

https://dl.doubtnut.com/l/_8ouc3bfi85Kl
https://dl.doubtnut.com/l/_xyjf5KQEhHoV
https://dl.doubtnut.com/l/_cDCdSQ1wpRZS


36. Nitrogen exists as diatomic molecule and

phosphorus as P4. Why?

Watch Video Solution

37. Write main differences between the properties

of white phospghorus and red phosphorus.

Watch Video Solution

38. Why does nitrogen show catenation properties

less than prosphorus.

https://dl.doubtnut.com/l/_VYDE8KXfJwR0
https://dl.doubtnut.com/l/_fIuQ5osIzcZx
https://dl.doubtnut.com/l/_JxW3PI39eOoE


Watch Video Solution

39. Give the disproportionation reaction of H3PO3.

Watch Video Solution

40. Can PCl5 act as an oxidising as well as a

reducing agent? Justify.

Watch Video Solution

https://dl.doubtnut.com/l/_JxW3PI39eOoE
https://dl.doubtnut.com/l/_II4E0h2E6WNv
https://dl.doubtnut.com/l/_yaghLjW63VhQ


41. Justify the placement of O, S, Se, Te and Po in

the same group of the periodic table in terms of

electronic configuration, oxidation state and

hydride formation.

View Text Solution

42. Why is dioxygen a gas but sulphur a solid?

Watch Video Solution

https://dl.doubtnut.com/l/_UvJwgOwdQtkq
https://dl.doubtnut.com/l/_PrtGHMswYqOz


43. Knowing the electron gain enthalpy values for

O → OӨ  and O → O2−  as −141kJmol−1 and 

+702kJmol−1 respectively, how can you account

for the formation of a large number of oxides

having O2−  species and not OӨ  ?

Watch Video Solution

44. Which aerosols deplete ozone?

Watch Video Solution

https://dl.doubtnut.com/l/_QS9aRpqd94Rg
https://dl.doubtnut.com/l/_qCq7lXleYkby


45. How is SO2 an air pollutant?

Watch Video Solution

46. Why are halogens strong oxidising agents ?

Watch Video Solution

47. Explain why fluorine forms only one oxoacid,

HOF.

Watch Video Solution

https://dl.doubtnut.com/l/_VMCbLrgzIatQ
https://dl.doubtnut.com/l/_TvVz3dqgWyK3
https://dl.doubtnut.com/l/_UL82ihkYVcTv
https://dl.doubtnut.com/l/_GUpunFXZMaXR


48. Although chlorine and oxygen have nearly same

electronegativity yet only oxygen from hydrogen

bond explain it ?

Watch Video Solution

49. Write two uses of ClO2.

Watch Video Solution

50. Why are halogens coloured?

Watch Video Solution

https://dl.doubtnut.com/l/_GUpunFXZMaXR
https://dl.doubtnut.com/l/_6T6IJPN8wh62
https://dl.doubtnut.com/l/_z8PVpz7bm1IF


51. Write the reaction of F2 and Cl2 with water.

Watch Video Solution

52. How can you prepare Cl2 from HCl and HCI from

Cl2? Write reactions only.

Watch Video Solution

53. What inspired N. Bartlett for carrying out

reaction between Xe and PtF6?

W t h Vid S l ti

https://dl.doubtnut.com/l/_z8PVpz7bm1IF
https://dl.doubtnut.com/l/_I2rI620hkCNr
https://dl.doubtnut.com/l/_wKseNGpUVIyA
https://dl.doubtnut.com/l/_6V4I5fJK0ICH


Watch Video Solution

54. What are the oxidation states of phosphorus in

the following: 

(i)H3PO3 , (ii)PCl3 , (iii)Ca3P2 


(iv)Na3PO4 , (v)POF3

Watch Video Solution

55. Write balanced equation for the following: 

(i). NaCl is heated with sulphuric acid in the

presence of MnO2. 


https://dl.doubtnut.com/l/_6V4I5fJK0ICH
https://dl.doubtnut.com/l/_S8Vcslg911Dy
https://dl.doubtnut.com/l/_GxhrzBPcGOGC


(ii). Chlorine gas is passed into a solution of NaI in

water.

Watch Video Solution

56. With what neutral molecule is ClOɵ

isoelectronic Is that molecule a Lewise Base?

Watch Video Solution

57. How are XeO3 and XeOF4 prepared?

Watch Video Solution

https://dl.doubtnut.com/l/_GxhrzBPcGOGC
https://dl.doubtnut.com/l/_Wa3NnznOZaVI
https://dl.doubtnut.com/l/_V7D5ZCoG5Z3e


58. Arrange the following in the order of property

indicated for each set: 

(i). F2, Cl2, Br2I2 −  increasing bond dissociation

enthaply. 

(ii). HF ,HCl,HBr,HI- increasing acid strength. 


(iii). NH3, PH3, AsH3, SbH3, BiH3 −  increasing

base strength.

Watch Video Solution

59. Which one of the following does not exist? 

(i). XeOF4 


(ii). NeF2 


https://dl.doubtnut.com/l/_UQIHkSGwl2Fa
https://dl.doubtnut.com/l/_pcL1Sg0zMWPk


(iii). XeF4 


(iv). XeF6

Watch Video Solution

60. Give the formula and describe the structure of a

noble gas which is isostructural with 

(i). Iclɵ4  


(ii). IBr ɵ2  


(iii). BrO3

View Text Solution

https://dl.doubtnut.com/l/_pcL1Sg0zMWPk
https://dl.doubtnut.com/l/_rtSl0vxUdwBb


61. Why do noble gases have comparatively large

atomic sizes?

Watch Video Solution

62. List the used of nean and argon gases.

Watch Video Solution

63. Write down the electronic configuration of: 

(i). Cr3+  


(ii). Prn3+  


https://dl.doubtnut.com/l/_qS5Or0F7XKoN
https://dl.doubtnut.com/l/_G0MWamX2cs9L
https://dl.doubtnut.com/l/_Xda6e0zRh2gl


(iii). Cu⊕  


(iv). Ce4+  


(v). Co2+  


(iv). Lu2+  


(vii). Mn2+  


(viii). Th4+

Watch Video Solution

64. Why are Mn2+  compounds more stable than 

Fe2+  toward oxidation to their +3 state?

Watch Video Solution

https://dl.doubtnut.com/l/_Xda6e0zRh2gl
https://dl.doubtnut.com/l/_dV96MR9ctm5T
https://dl.doubtnut.com/l/_Qtufgzy27G1l


65. Explain briefly how +2 state become more and

stable in the first half of the first row transition

elements with increasing atomic number?

Watch Video Solution

66. To what extent do the electronic configurations,

decide the stability of oxidation states in the first

series of the transition elements? Illustrate your

answer with examples.

Watch Video Solution

https://dl.doubtnut.com/l/_Qtufgzy27G1l
https://dl.doubtnut.com/l/_1wxCQwx24ZfV


67. What may be the stable oxidation state of the

transition elements with the following d electron

configurations in the ground state of their atoms:

3d3, 3d5, 3d4 ?

Watch Video Solution

68. Name the oxometal anions of the first series of

the transition metals in which the metal exhibits

the oxidation state equal to its group number.

Watch Video Solution

https://dl.doubtnut.com/l/_8VQgsfG5aqc5
https://dl.doubtnut.com/l/_oPPkIMm7CK1D
https://dl.doubtnut.com/l/_uLN9RSPQ7FnE


69. What is lanthanoid contraction? What are the

consequences of lanthanold contraction?

Watch Video Solution

70. What are the characteristics of th transition

elements and why are they called transition

elements? Which of the d-block elements may not

be regarded as the transition elements?

Watch Video Solution

https://dl.doubtnut.com/l/_uLN9RSPQ7FnE
https://dl.doubtnut.com/l/_e55YRn8YxnVT


71. In What way is the electronic configuration of

the transition elements different from the of the

non-transition elements?

Watch Video Solution

72. What are the different oxidation states

exhibited by the lanthanoids?

Watch Video Solution

https://dl.doubtnut.com/l/_ZkFwZzQBC17b
https://dl.doubtnut.com/l/_ijtYOwjXXNHs


73. What are interstitial compounds? Why are such

compounds well known for the transition metals?

Watch Video Solution

74. How is the variability in oxidation states fo

transition metals different from that of the non

transition metaals? 

Illustrate with examples.

Watch Video Solution

https://dl.doubtnut.com/l/_RWfBCf3vVXW3
https://dl.doubtnut.com/l/_0NHChRl0tjoZ


75. Describe the oxidising action of potassium

dichromate and write the ionic equations of

reaction with: 

(i). Iodide 

(ii). Iron (II) solution and 

(III). H2S

Watch Video Solution

76. For  and  systems the E ɵ  values

for some metals are as follows. 

− 0.9V , − 0.4V  

M 2+

M

M 3+

M 2+

Cr2+

Cr

Cr3+

Cr2+

https://dl.doubtnut.com/l/_HTC0rdf0NNVv
https://dl.doubtnut.com/l/_ZDGWJuEPeKKb


− 1.2V , + 1.5V  


− 0.4, + 0.8V  


Use this data comment upon: 

(i). The stability of Fe3+  in acid solutio as

compared to that of Cr3+  or Mn3+  and ltbtgt (ii).

The case with which iron can be oxidised as

compared to a similar process for either chromium

or manganese metal.

View Text Solution

Mn2+

Mn

Mn3+

Mn2+

Fe2+

Fe

Fe3+

Fe2+

77. Predict which of the followingwill be coloured in

aqueous solution?

https://dl.doubtnut.com/l/_ZDGWJuEPeKKb
https://dl.doubtnut.com/l/_gNzuGBYA4ygl


Ti3+ , V 3+ , Cu⊕ , Sc3+ ,Mn2+ , Fe2+  and Co2+

Give reasons for each.

Watch Video Solution

78. Compare the chemistry of actinoids with that of

the lanthanoids with special referene to : 

(i). Electronic configuration. 

(iii). Oxidation state 

(ii). Atomic and ionic sizes and 

(iv). Chemical reactivity.

View Text Solution

https://dl.doubtnut.com/l/_gNzuGBYA4ygl
https://dl.doubtnut.com/l/_FNjAhjiy1Snm
https://dl.doubtnut.com/l/_yjjXY0eMOOAL


79. How would you account for the following. 

(i). Of the d4 species. Cr2+  is strongly reducing

while manganese (III) is strongly oxidising. 

(ii). Cobalt (II) is stable in aqueous solution but in

the presence of complexing reagents it is easily

oxidised. 

(iii). The d1 configuration is very unstable in ions.

View Text Solution

80. What is meant by 'disproportionation'? Give two

examples of disproportionation reaction in

aqueous solution.

https://dl.doubtnut.com/l/_yjjXY0eMOOAL
https://dl.doubtnut.com/l/_v3ZWBhde6gIv


Watch Video Solution

81. Which metal in the first series of transition

metals exhibits+1 oxidation state most frequently

and why?

Watch Video Solution

82. Calculate the number of unpaired electrons in

the following gaseous ions: Mn3+ , Cr3+ , V 3+

and Ti3+ . Which one of these is the most stable in

aqueous solution?

W t h Vid S l ti

https://dl.doubtnut.com/l/_v3ZWBhde6gIv
https://dl.doubtnut.com/l/_8DvpvHcPD9Sb
https://dl.doubtnut.com/l/_FcZZ7oUm94aP


Watch Video Solution

83. Give examples and suggest reason for the

following features of the transition metals

Chemistry. 

(ii). A transition metal exhibits highest oxidation

state in oxides and fluorides. 

(iii). The highest oxidation state is exhibited in

oxoanions of a metal.

Watch Video Solution

https://dl.doubtnut.com/l/_FcZZ7oUm94aP
https://dl.doubtnut.com/l/_SRSKikp8mLKW


84. Indicate the steps in the preparation of: 

(i). K2Cr2O7 from chromite ore. 


(ii). KMnO4 from pyrolusite ore

Watch Video Solution

85. What are alloys? Name an important alloy which

contains some of the lanthanoid metals . Mention

its uses.

Watch Video Solution

https://dl.doubtnut.com/l/_LraYdcZwPMHe
https://dl.doubtnut.com/l/_iKUZnbjyre6i


86. What are inner transition elements? Decide

which of the following atomic number are the

atomic numbers of the inner trasitions elements:

29, 59, 74, 95, 102, 104.

View Text Solution

87. The chemistry of the actinoid elements is not so

smooth as that of the lanthanoid. Justify this

statement by giving some example from the

oxidation state of these elements

Watch Video Solution

https://dl.doubtnut.com/l/_O1q1xzVT9Txa
https://dl.doubtnut.com/l/_Z7Jc7fE7z8eo


88. Which is the last element in the series of the

actinods? Write the electronic configuration of this

element. Comment on the possible oxidation state

of this element.

Watch Video Solution

89. Use Hund's rule to derive the electronic

configuration of Ce3+  ion, and calculatel its

magntic moment on the basis of spin-only formula.

Watch Video Solution

https://dl.doubtnut.com/l/_QXty1t1xA0j3
https://dl.doubtnut.com/l/_InMj3rKKA9hz
https://dl.doubtnut.com/l/_ppzzTc1GZn2f


90. Name the member of the lanthanoids series

which exhibit+4 oxidation states and those which

exhibit+2 oxidation state. Try to correlate this types

of behavior with the electronic configuration of

these elements.

Watch Video Solution

91. Compare the chemistry of actinoids with that of

the lanthanoids with special reference to:

Watch Video Solution

https://dl.doubtnut.com/l/_ppzzTc1GZn2f
https://dl.doubtnut.com/l/_0tviNn7Y0xrW


92. Write the electronic configuration of the

elements with the atomic number 61, 91, 101 and 

109.

Watch Video Solution

93. Compare the general characteristics of the first

series of the transition metals with those of the

seconds and third series metals in the respective

vertical columns. Give special emphasis on the

following points. 

(i). Electronic configuration and 

(ii). Oxidation states. 

https://dl.doubtnut.com/l/_QVd83oGHLNjv
https://dl.doubtnut.com/l/_Vhd4lgzuYnyq


(iii) ionisation enthalpies and 

(iv) Atomic.

View Text Solution

94. Write doen the number of 3d electrons in each

of the following ions:

Ti2+ , V 2+ , Cr3+ ,Mn2+ , Fe2+ , Fe2+ , Co2+ , Ni2+

and Cu2+  indicate how would you expect the five

3d orbitals to be occupied for these hydrated ions

(octahedral).

Watch Video Solution

https://dl.doubtnut.com/l/_Vhd4lgzuYnyq
https://dl.doubtnut.com/l/_qzbO0TImQ5WJ
https://dl.doubtnut.com/l/_X9KKcJv5zw5o


95. Comment on the statement that elements of

the first transition series possess many properties

different from those of heavier transition elements.

View Text Solution

96. What can be inferred from the magnetic

moment values of the following camplex species? 

Example MagneticMoment(BM)

K4[Mn(CN)6] 2.2

[Fe(H2O)6] 5.3

K2(MnCl4] 5.9

View Text Solution

https://dl.doubtnut.com/l/_X9KKcJv5zw5o
https://dl.doubtnut.com/l/_g95jcBkpIGIF
https://dl.doubtnut.com/l/_GYizgw5a2lZ1


97. Which one of the following postulates of

Werner's theory is incorrect ?

Watch Video Solution

98. FeSO4 solution mixed with (NH4)2SO4

solution is 1: 1 molar ratio gives the test of Fe2+

ion but CuSO4 solution mixed with aqueous

ammonia in 1: 4 molar ratio does not give the test

of Cu2+  ion. Explain why?

Watch Video Solution

https://dl.doubtnut.com/l/_GYizgw5a2lZ1
https://dl.doubtnut.com/l/_z7nI7a1AGA2y


99. Explain with two examples each of the following

coordination entity, ligand, coordination number,

coordination polyhedron, homoleptic and

heteroleptic.

View Text Solution

100. What is meant by unidentate and ambidentate

ligands? Give two examples for each.

Watch Video Solution

https://dl.doubtnut.com/l/_tM6qyPPj4e2D
https://dl.doubtnut.com/l/_Uh1dHaGkZm92


101. Specify the oxidation numbers of the metals in

the following coordination entities: 

(i). [Co(H2O)(CN)(en)2]
2+  


(ii). [CoBr2(en)2]
⊕  


(iii). [PtCl4]
2−  ltbtgt (iv). K3[Fe(CN)6] 


(v). [Cr(NH3)3Cl3]

Watch Video Solution

102. Using IUPAC norms write the fomulas for

the following 

(i). Tetrahydroxozincate(II). 

(ii). Potassium tetrachloridopalladate(II). 

https://dl.doubtnut.com/l/_Lq4pwOUkQaew
https://dl.doubtnut.com/l/_JkUXnACanXQq


(iii). Diamminedlchloridoplatinum(II). 

(iv). Potassium tetracyanidonickelate(II). 

(v). Pentaamminenitrito-O-Cobalt(III). 

(vi). Hexaamminecobalt(III) sulphate 

(vii). Potassium tri(oxalato)chromate(III). 

(viii). Hexaammlneplatinum(IV) 

(ix). Tetrabromidocuprate(II). 

(x). Pentaamminenitrito-N-cobalt(IlI).

Watch Video Solution

103. Using IUPAC norms write the systematic names

of the following: 

https://dl.doubtnut.com/l/_JkUXnACanXQq
https://dl.doubtnut.com/l/_qlNAi9oWmLPG


(i). [Co(NH3)6]Cl3 


(ii). [Pt(NH3)2Cl(NH2CH3)]Cl 


(iii). [Ti(H2O)6]
3+  


(iv). [Co(NH3)4Cl(NO2)]Cl 


(v). [Mn(H2O)6]
2+  


(vi). [NiCl4]
2−  


(vii). [Ni(NH3)6]Cl2 


(viii). [Co(en)3]
3+  


(ix). [Ni(CO)4]

Watch Video Solution

https://dl.doubtnut.com/l/_qlNAi9oWmLPG


104. How many geometrical isomers are possible in

the following corrdination entities? 

(i). [Cr(C2O4)3]
3−  


(ii). [Co(NH3)3Cl3]

Watch Video Solution

105. Draw the structures of optical isomers of: 

(i). [Cr(C2O4)3]
3−  


(ii). [PtCl2(en)2]
2+  


(iii). [Cr(NH3)2Cl2(en)]
⊕

Watch Video Solution

https://dl.doubtnut.com/l/_CpufZ80YYDTY
https://dl.doubtnut.com/l/_xi9n95Ym9fb0


106. Draw the structures of optical isomers of: 

(i). [Cr(C2O4)3]
3−  


(ii). [PtCl2(en)2]
2+  


(iii). [Cr(NH3)2Cl2(en)]
⊕

Watch Video Solution

107. Write all the geometrical isomers of

[Pt(NH3)(Br)(Cl)(py)] and how many of these

will exhibit optical isomers?

Watch Video Solution

https://dl.doubtnut.com/l/_bKmKFHpDPQbJ
https://dl.doubtnut.com/l/_g5ocom9WMDeR
https://dl.doubtnut.com/l/_omr0IUZeurkX


108. Aqueous copper sulphate solution (blue in

colour) gives: 

(i). A green precipitate with aqueous potassium

fluoride and 

(ii). A bright green solution with aqueous

potassium chloride. Explain these experimental

results.

Watch Video Solution

109. What is the coordination entity formed when

excess of aqueous KCN is added to an aqueous

solution of copper sulphate? Why is that no

https://dl.doubtnut.com/l/_omr0IUZeurkX
https://dl.doubtnut.com/l/_lPMnet2yeadv


precipitate of copper sulphlde is obtained when

H2S(g) is passed through this solution?

View Text Solution

110. Discuss the nature of bonding in the following

coordination entities on the basis of valence bond

theory: 

(i). [Fe(CN)6]
4−  


(ii). [FeF6]
3−  


(iii). [Co(C2O4)3]
3−  


(iv). [CoF6]
3−

Watch Video Solution

https://dl.doubtnut.com/l/_lPMnet2yeadv
https://dl.doubtnut.com/l/_RJDyhb3ZHI7j


111. What is crystal field splitting energy? How does

the magnitude of △0  decide the actual

configuration of d orbitals in a coordination entity?

Watch Video Solution

112. What is spectrochemical series?

Watch Video Solution

113. What is crystal field splitting energy? How does

the magnitude of △0  decide the actual

https://dl.doubtnut.com/l/_RJDyhb3ZHI7j
https://dl.doubtnut.com/l/_yFZNks9FEAo1
https://dl.doubtnut.com/l/_kX7wyISxrlbK
https://dl.doubtnut.com/l/_Uo65W6v5UDfx


configuration of d orbitals in a coordination entity?

Watch Video Solution

114. [Cr(NH3)6]
3+  is paramagnetic while 

[Ni(CN)4]
2−  is diamagnetic. Explain why?

Watch Video Solution

115. Assertion: A solution of [Ni(H2O)6]
2+  is

green but a solution of [Ni(CN)4]
2−  is colourless 

Reason: [Ni(CN)4]
2−  is square planar complex .

Watch Video Solution

https://dl.doubtnut.com/l/_Uo65W6v5UDfx
https://dl.doubtnut.com/l/_Iqtri3EJibFi
https://dl.doubtnut.com/l/_ux8FXA6B8kmB


116. [Fe(H2O)6]
3+  is strongly paramagnetic

whereas [Fe(CN)6]
3−  is weakly paramagnetic.

Explain.

Watch Video Solution

117. BONDING IN METAL CARBONYLS

Watch Video Solution

https://dl.doubtnut.com/l/_ux8FXA6B8kmB
https://dl.doubtnut.com/l/_Apq3HvKasPUM
https://dl.doubtnut.com/l/_6Cn4iiBx7Iei


118. Give the oxidation state, d-orbitals occupation

and coordination number of the central metal ion

in the following complexes: 

(i). K3[Co(C2O4)3] 


(ii). cis − [Cr(en)2Cl2]Cl 


(iii). (NH4)2[CoF4] 


(iv). [Mn(H2O)]SO4

Watch Video Solution

119. Wrtie down the IUPAC name for each of the

following complexes and indicate the oxidation

state, electronic configuration and coordination

https://dl.doubtnut.com/l/_EQd7ZmgWBqrz
https://dl.doubtnut.com/l/_ccOXjFLl2OGO


number. Also give stereochemistry and magnetic

moment of the complex. 

(i). K[Cr(H2O)2(C2O4)2].3H2O 


(ii). [Co(NH3)5Cl]Cl2 


(iii). [CrCl3(py)3] 


(iv). Cs[FeCl4I 


(v). K4[Mn(CN)6]

Watch Video Solution

120. STABILITY OF COORDINATION COMPOUND

Watch Video Solution

https://dl.doubtnut.com/l/_ccOXjFLl2OGO
https://dl.doubtnut.com/l/_84HMm68VQlMm
https://dl.doubtnut.com/l/_kUYAuZiN4rY8


121. What is meant by the chelate effect? Give and

example.

Watch Video Solution

122. How many ions are produced from the complex

Co(NH3)6Cl2 in solution? 


(i). 6 

(ii). 4 

(iii). 3 

(iv). 2

Watch Video Solution

https://dl.doubtnut.com/l/_kUYAuZiN4rY8
https://dl.doubtnut.com/l/_qTjurM3oR6KZ


123. Amongst the following ions which one has the

highest magnetic moment value? 

(i). [Cr(H2O)6]
3+  


(ii). [Fe(H2O)6]
2+  

(iii). [Zn(H2O)6)]
2+

Watch Video Solution

124. The oxidation number of hyrogen is 

(i) 0 

(ii) +1 


(iii) −1 


(iv) +1 only.

https://dl.doubtnut.com/l/_DPXeXJXnMshd
https://dl.doubtnut.com/l/_nxJAWb1GPxqc


Watch Video Solution

125. Among the following, the most stable complex

is 

(i). [Fe(H2O)6]
3+  

(ii). [Fe(NH3)6]
3+  


(iii). [Fe(C2O4)3]
3−  


(iv). [FeCl6]
3−

Watch Video Solution

https://dl.doubtnut.com/l/_nxJAWb1GPxqc
https://dl.doubtnut.com/l/_aKLTalFKVQWi


Short Answer Type

126. The correct order for the wavelength of

absorption in the visible region is

Watch Video Solution

1. Which metals are generally extracted by the

electrolytic processes ? What positions these

metals generally occupy in the periodic table?

Watch Video Solution

https://dl.doubtnut.com/l/_UNRZupYi6icB
https://dl.doubtnut.com/l/_WMcIKmGRpR1F
https://dl.doubtnut.com/l/_o0mibpV2y7dA


2. What type of ores are roasted?

Watch Video Solution

3. Give the names of the four most abundant

elements in the earth's crust? Arrange them in

decreasing abundance.

Watch Video Solution

4. What is a mineral? How does it differ from an

ore?

Watch Video Solution

https://dl.doubtnut.com/l/_o0mibpV2y7dA
https://dl.doubtnut.com/l/_HdZRJ4exkLIF
https://dl.doubtnut.com/l/_0Vzx5YCf4aF1


Watch Video Solution

5. Why do some metals occur in the native state?

Watch Video Solution

6. Name the method used for refining of : 

(a). Zirconium. 

(b). Nickel.

View Text Solution

7. Can iron be purified by amalgamation?

https://dl.doubtnut.com/l/_0Vzx5YCf4aF1
https://dl.doubtnut.com/l/_1VqFm0pBgW7n
https://dl.doubtnut.com/l/_MxJW5mepVBLG
https://dl.doubtnut.com/l/_DdgC3jPlfcXE


Watch Video Solution

8. Both iron and aluminium combine slowly with

oxygen at room temperature. Why is this reaction a

problem for iron but not for aluminium?

Watch Video Solution

9. What is the name given to solid phase of earth?

Watch Video Solution

https://dl.doubtnut.com/l/_DdgC3jPlfcXE
https://dl.doubtnut.com/l/_Gf1SQQNBovKk
https://dl.doubtnut.com/l/_GYO0up08yztr


10. Give one example where hydrometallurgy is

used for metal extraction?

View Text Solution

11. Name the method of metal refining which is

generally used when a metal of high degree of

purity is needed.

Watch Video Solution

https://dl.doubtnut.com/l/_t0YOXrvv42rC
https://dl.doubtnut.com/l/_tEQW6XfyMGry


12. When is electrolytic reduction applied for

getting a metal?

Watch Video Solution

13. What name is given to carbon reduction process

for extracting the metal?

Watch Video Solution

14. An ore has impurities which are attracted by

magnet suggest process for its benefication.

https://dl.doubtnut.com/l/_RY8npE8hpxhp
https://dl.doubtnut.com/l/_scydgn6viR8n
https://dl.doubtnut.com/l/_J4UcfS3a4nrl


Watch Video Solution

15. In moist air, copper corrodes to produce a green

layer on the surface. Give reason.

Watch Video Solution

16. The value of

△f Gɵ (Cr2O3) = − 540kJmol−1 and 

△f Gɵ (Al2O3) = − 827kJmol−1. Is reduction

of Cr2O3 possible with Al?

Watch Video Solution

https://dl.doubtnut.com/l/_J4UcfS3a4nrl
https://dl.doubtnut.com/l/_TvNyxuSV7Ocx
https://dl.doubtnut.com/l/_PyWcUErQomsf


17. What do you understand by roasting in

presence of NaCl?

Watch Video Solution

18. Why NF3 cannot be hydrolysed, while NCl3 can

be readily hydrolysed?

View Text Solution

19. Why NI5 does not exist While PCl5 exists?

Watch Video Solution

https://dl.doubtnut.com/l/_NeJerU4X4VFR
https://dl.doubtnut.com/l/_t8kiSR2lvuCR
https://dl.doubtnut.com/l/_EKAApzncWTdj


20. Why the boiling point of ammonia is greater

than phosphine?

Watch Video Solution

21. Why NO is paramagnetic?

Watch Video Solution

22. Give reason why elemental nitrogen exitsts as

diatomic molecule whereas elemental phosphours

https://dl.doubtnut.com/l/_EKAApzncWTdj
https://dl.doubtnut.com/l/_nfRbSLm89OBw
https://dl.doubtnut.com/l/_0rFSZcCIKtGG
https://dl.doubtnut.com/l/_PT28XnoAJL4p


is a tetraatomic molecule.

Watch Video Solution

23. Why nitrogen gas is inert?

Watch Video Solution

24. Why phosphorus is more reactive than

nitrogen?

Watch Video Solution

https://dl.doubtnut.com/l/_PT28XnoAJL4p
https://dl.doubtnut.com/l/_qYZN9MMqbVch
https://dl.doubtnut.com/l/_XEJxyHIhZtHX


25. Why nitrogen does not form penthalides?

Watch Video Solution

26. Why bismuth does not from pentahalides?

Watch Video Solution

27. What type of hydridisation is involveed in the

formation of pentahalides is involved in the

formation of pentahalides of group 15 elements?

Watch Video Solution

https://dl.doubtnut.com/l/_lwF9wNuS2hzN
https://dl.doubtnut.com/l/_eyOWSjkJZrLo
https://dl.doubtnut.com/l/_mOYzbaOaKXW6


28. An element X belongs to group I or 2 or 15. Its

oxide react with water to produce highly acidic

solution the elements belong to which group ?

View Text Solution

29. A simole oxide of carbon and that another non-

metal have the same Cp/Cv ratio but a difference of

2 in their molecular weights. The other non-metal

could be?

View Text Solution

https://dl.doubtnut.com/l/_mOYzbaOaKXW6
https://dl.doubtnut.com/l/_rhfRMe6RreMV
https://dl.doubtnut.com/l/_voVO007x39hC


30. Which among the following is strongest

reducing agent? BiH3, AsH3, PH3 and NH3

Watch Video Solution

31. Which among N2O, P2O5, Sb2O and Bi2O5 is

most unstable?

Watch Video Solution

32. The electronegativity of nitrogen and chlorine is

3.0 Why nitrogen is inert at room temperature ,

https://dl.doubtnut.com/l/_ROsWtpTf2nz0
https://dl.doubtnut.com/l/_tzyY0EHHLy69
https://dl.doubtnut.com/l/_NNkEyqTpwJuh


while chlorine is very reactive?

Watch Video Solution

33. Arrange the following in the increasing order of

the properties stated against them. 

(a) (i)NH3 , (ii)PH3, (iii)AsH3 , (iv)SbH3-boiling

point. 

(b)(i)Bi3+  ,(ii)Sb3+  , (iii)As3+ -stability of +3

oxidation state. 

( c)(i)NH3, (ii)PH3 , (iii)AsH3 , (iv)SbH3 , (v)BiH3-

reducing character.

Watch Video Solution

https://dl.doubtnut.com/l/_NNkEyqTpwJuh
https://dl.doubtnut.com/l/_Ks1voXeFOXx6


34. Arrange the above hydrides in order of

increasing basic nature.

Watch Video Solution

35. Which is most stable among above hydrides?

View Text Solution

36. What are the neutral oxides of nitrogen?

Watch Video Solution

https://dl.doubtnut.com/l/_Ks1voXeFOXx6
https://dl.doubtnut.com/l/_squnwhgZFnro
https://dl.doubtnut.com/l/_XiTOjfZNt1cD
https://dl.doubtnut.com/l/_lMGyXZLxr8Ty


37. What are the paramagnetic oxides of nitrogen?

Watch Video Solution

38. Name the halides formed by nitrogen.

Watch Video Solution

39. Why +5 state is uncommon in bismuth.

Watch Video Solution

https://dl.doubtnut.com/l/_2PwgF9fVg0dB
https://dl.doubtnut.com/l/_QDQvls2kmFdV
https://dl.doubtnut.com/l/_6yJF3FB05sKH


40. What is the principle of using ammonia in

refrigeration?

View Text Solution

41. Which element of group 15 undergoes

sublimation?

Watch Video Solution

42. Which of the elemetns of group 15 are

metalloids?

https://dl.doubtnut.com/l/_INt3z4n2pJdO
https://dl.doubtnut.com/l/_c7gVnUk13enP
https://dl.doubtnut.com/l/_hhWYHpJ1qE6f


Watch Video Solution

43. What is the nature of the compounds of group

15 elements?

Watch Video Solution

44. What is the number of unpaired electrons

present in the valency shell of group elements?

Watch Video Solution

https://dl.doubtnut.com/l/_hhWYHpJ1qE6f
https://dl.doubtnut.com/l/_vTEfOsI03IlL
https://dl.doubtnut.com/l/_5oYGk7IfTCqE


45. The maximum covalency of nitrogen is

Watch Video Solution

46. What are common oxidation states of group 15

elements?

Watch Video Solution

47. What are the possible oxidation states of

nitogen?

Watch Video Solution

https://dl.doubtnut.com/l/_7r2rj7kI4Lme
https://dl.doubtnut.com/l/_bHahpjKt8ZY6
https://dl.doubtnut.com/l/_sAePRFUUAErc


48. What is the relation between oxidation number

of the central atom and covalent nature of the

compound?

Watch Video Solution

49. Name the element of group 15 which has

highest electronegativity.

Watch Video Solution

https://dl.doubtnut.com/l/_sAePRFUUAErc
https://dl.doubtnut.com/l/_EoIF5AL9IPhn
https://dl.doubtnut.com/l/_HZMG19xzZVhB


50. Among the hydrides of group 15 elements

which has highest boiling point?

Watch Video Solution

51. Among the hydrides of group 15 elements which

is neutral?

View Text Solution

52. Why PCl3 fumes in moisture?

Watch Video Solution

https://dl.doubtnut.com/l/_ZXQJiWchuz7S
https://dl.doubtnut.com/l/_WdypIhdaSuwm
https://dl.doubtnut.com/l/_zDALUzDHkvKt


53. Arrange the acids H2SO4,H2SeO4 and 

H2TeO4 in decreasing order of their strength.

Watch Video Solution

54. Name the most catenating element of group 16.

Watch Video Solution

55. Give the name of the metalloid in group 16.

Watch Video Solution

https://dl.doubtnut.com/l/_zDALUzDHkvKt
https://dl.doubtnut.com/l/_l8wKj4BnUfXW
https://dl.doubtnut.com/l/_9gkgFQG62Yl6
https://dl.doubtnut.com/l/_csjOlX7m7Snd


56. Maximum covalency of oxygen is 4. Why?

View Text Solution

57. Name the radioactive chalcogen.

Watch Video Solution

58. What type of bonds do chalcogens from in +4

and +6 oxidation states?

View Text Solution

https://dl.doubtnut.com/l/_csjOlX7m7Snd
https://dl.doubtnut.com/l/_F1qM4s1MiMcU
https://dl.doubtnut.com/l/_QMbd2GMjQpEm
https://dl.doubtnut.com/l/_QzKffLJaPLPy


59. Why hypo is used in photography?

Watch Video Solution

60. Which allotropic form of oxygen is unstable?

Watch Video Solution

61. Which is more acidic: SO2, SeO2, and TeO2?

Watch Video Solution

https://dl.doubtnut.com/l/_QzKffLJaPLPy
https://dl.doubtnut.com/l/_GdR2sid9wQF0
https://dl.doubtnut.com/l/_kOw8GEmzV8BT
https://dl.doubtnut.com/l/_LJQK2YZvvVIF
https://dl.doubtnut.com/l/_Fo0tIy5fvNAI


62. Why oxygen molecule is diatomic whereas

sulphur molecules is octa atomic?

Watch Video Solution

63. Among TeF6, SeF6 and SF6 which is more

stable?

Watch Video Solution

64. Arrange H2TeO3,H2SeO3 and H2SO3 in

increasing order of acid strength.

Watch Video Solution

https://dl.doubtnut.com/l/_Fo0tIy5fvNAI
https://dl.doubtnut.com/l/_dTGjwvZMhBjt
https://dl.doubtnut.com/l/_8ZOL4K1s65Pt


65. What is the relation between acid strength and

atomic number of central atom?

Watch Video Solution

66. What is the relation between acidic nature of

oxoacid and electronegativity of the central atom?

Watch Video Solution

https://dl.doubtnut.com/l/_8ZOL4K1s65Pt
https://dl.doubtnut.com/l/_L5XZTzdqTDNv
https://dl.doubtnut.com/l/_yimoENiUMESl


67. Is formation of ozone from oxygen an

endothermic or exothermic reaction?

Watch Video Solution

68. Arrange the hydrides of group 16 elements in

order of increasing boiling point.

Watch Video Solution

69. Arrange SO3, SeO3 and TeO3 in order of

increasing acid strength.

https://dl.doubtnut.com/l/_a3Kd9yMUuER0
https://dl.doubtnut.com/l/_ZKJB6l7nnkbY
https://dl.doubtnut.com/l/_s9AWnTHpY4M4


Watch Video Solution

70. Arrange the hydrides of group 16 elements in

increasing order of reducing power.

Watch Video Solution

71. Arrange the hydrides of group 16 elements in

order of increasing acid nature.

Watch Video Solution

https://dl.doubtnut.com/l/_s9AWnTHpY4M4
https://dl.doubtnut.com/l/_lQDIezywY3Gx
https://dl.doubtnut.com/l/_nVNKZmCCQQVR


72. Arrange the hydrised of group 16 in order of

increasing bond angle.

Watch Video Solution

73. Write the formula of oxide, superoxide and

peroxide of caesium.

Watch Video Solution

74. Why sulphur exhibits even oxidation states

only?

https://dl.doubtnut.com/l/_aCS2UaQhsmYW
https://dl.doubtnut.com/l/_NxaY2wGvxeUZ
https://dl.doubtnut.com/l/_OHvDh5w5zc44


Watch Video Solution

75. Arrange H2S,H2O,H2Se and H2Te in

increasing order of reducing strength.

Watch Video Solution

76. What is the shape of SO3 molecule in gaseous

state?

Watch Video Solution

https://dl.doubtnut.com/l/_OHvDh5w5zc44
https://dl.doubtnut.com/l/_S4olWPmA4xUv
https://dl.doubtnut.com/l/_SqPLJz8RhOpB


77. In which compounds oxygen exhibits positive

state?

Watch Video Solution

78. What is the atomicity of sulphur?

Watch Video Solution

79. What is the oxidation state of S in H2SO4?

Watch Video Solution

https://dl.doubtnut.com/l/_rGJPu9Xmvh53
https://dl.doubtnut.com/l/_sqQRCSmOEvoZ
https://dl.doubtnut.com/l/_ByBih0MAyvkU
https://dl.doubtnut.com/l/_rS9Px69W8dwM


80. Name the hydride of group 16 elements which is

liquid at room temperature.

Watch Video Solution

81. Which allotropic form of sulphur is most stable

at room temperature?

Watch Video Solution

82. What is the maximum number of bonds formed

by flourine?

https://dl.doubtnut.com/l/_rS9Px69W8dwM
https://dl.doubtnut.com/l/_DC7e41DDfuRV
https://dl.doubtnut.com/l/_g6qcrMlXqu9v


Watch Video Solution

83. Name the halogens that can form true chemical

bonds with noble gases?

Watch Video Solution

84. Name three gases which are used in warfare as

posionous gases and prepared by chlorine.

Watch Video Solution

https://dl.doubtnut.com/l/_g6qcrMlXqu9v
https://dl.doubtnut.com/l/_cSums9yUpJEL
https://dl.doubtnut.com/l/_I8XW34MIGopa


85. Name the most metalllic element among

halogens?

Watch Video Solution

86. What is geometry of ClOɵ

2 , ClO
ɵ

3  and ClOɵ

4

ions?

Watch Video Solution

87. Arrange halogens in increasing order of

electron affinities.

https://dl.doubtnut.com/l/_pUa9Gzvglbdb
https://dl.doubtnut.com/l/_WMYQBjzSwMKv
https://dl.doubtnut.com/l/_osSMswfiy1b8


Watch Video Solution

88. Arrange the halongens in order of bond

dissociation energies.

Watch Video Solution

89. Arrange the hydrogen halides in decreasing

order of their reducing power.

Watch Video Solution

https://dl.doubtnut.com/l/_osSMswfiy1b8
https://dl.doubtnut.com/l/_mAAqiD8Hj9Qu
https://dl.doubtnut.com/l/_eNsIc3iTDfLW


90. What happens to acid strength among the

acids of chlorine with an increase in oxidation

number?

Watch Video Solution

91. Name the anhydride of hypochlorous acid?

Watch Video Solution

92. Arrange the hydrogen halides in increasing

order of acid strengths.

https://dl.doubtnut.com/l/_mwrHwKelrXhY
https://dl.doubtnut.com/l/_WrLnn2NPgov3
https://dl.doubtnut.com/l/_vAv0WjsXylQ2


Watch Video Solution

93. Chlorine heptoxide was was dissolved in water.

As a result an acid was obtained. Name the acid

formed?

Watch Video Solution

94. Which halogen has the gretest electron affinity?

View Text Solution

https://dl.doubtnut.com/l/_vAv0WjsXylQ2
https://dl.doubtnut.com/l/_r5j8t6yQk0vE
https://dl.doubtnut.com/l/_5xFnnomjPBgL


95. Which gas is called super halogen?

Watch Video Solution

96. Name the anhydride of perchloric acid.

Watch Video Solution

97. Which is corrosion resistant plastic of fluorine?

Watch Video Solution

https://dl.doubtnut.com/l/_K437m5GsekB7
https://dl.doubtnut.com/l/_79MMuOpeFCZD
https://dl.doubtnut.com/l/_Uxu29vpaKJe4


98. What is the order of oxidising nature of oxides

of chlorine?

View Text Solution

99. What is the shape of chlorne monoxide

molecule?

Watch Video Solution

100. Give the order of stability of hydrogen halides?

Watch Video Solution

https://dl.doubtnut.com/l/_1k8oN7xp7CUb
https://dl.doubtnut.com/l/_xIQMtQ1gLbqO
https://dl.doubtnut.com/l/_XMDdC3o7aNxq


101. Which halogen oxidises water to ozone?

Watch Video Solution

102. Which halogen has the least bond energy?

Watch Video Solution

103. Which halogen is the most powerful oxidising

agent?

Watch Video Solution

https://dl.doubtnut.com/l/_XMDdC3o7aNxq
https://dl.doubtnut.com/l/_CbLCRuYDhLuK
https://dl.doubtnut.com/l/_UhIBtwkCIilr
https://dl.doubtnut.com/l/_FEpqPS20NaF5


104. Why fluorine ghas only one oxidation state?

Watch Video Solution

105. Arrange oxides of chlorine in decreasing order

of reactivity.

View Text Solution

106. Name two elements resisting oxidation by

chlorine.

W t h Vid S l ti

https://dl.doubtnut.com/l/_FEpqPS20NaF5
https://dl.doubtnut.com/l/_RoUdC87onWHo
https://dl.doubtnut.com/l/_ptFabZIJdlQs
https://dl.doubtnut.com/l/_0HViMidzENAC


Watch Video Solution

107. Which halogen has the largest atomic size?

Watch Video Solution

108. Which oxide of chlorine is paramagnetic?

Watch Video Solution

109. What is the percentage of chlorine in a good

sample of bleaching power?

Watch Video Solution

https://dl.doubtnut.com/l/_0HViMidzENAC
https://dl.doubtnut.com/l/_a1AKozF6Wy6w
https://dl.doubtnut.com/l/_90h6TUtTuHe7
https://dl.doubtnut.com/l/_lH0tEzLkK5d9


Watch Video Solution

110. Why halogens are very reactive?

Watch Video Solution

111. Why fluorine is most reactive?

Watch Video Solution

112. Why chlorine does not bleach in the absence of

moisture?

Watch Video Solution

https://dl.doubtnut.com/l/_lH0tEzLkK5d9
https://dl.doubtnut.com/l/_j5ZbF2Wm1K6a
https://dl.doubtnut.com/l/_CzCETm4dNH1x
https://dl.doubtnut.com/l/_x2EliMeqmlGy


113. What happens when fluorine gas is passed

through water?

Watch Video Solution

114. What is the hydridisation of O in Cl2O?

Watch Video Solution

115. Which of the following is the only exothermic

oxide of chlorine?

https://dl.doubtnut.com/l/_x2EliMeqmlGy
https://dl.doubtnut.com/l/_itff1XzlPCf6
https://dl.doubtnut.com/l/_ElgstKTGM1on
https://dl.doubtnut.com/l/_IOrxWeuNzEHS


Watch Video Solution

116. Give examples of paramagnetic oxide of

chlorine.

Watch Video Solution

117. Give the name of least stable and most stable

oxides of chlorine.

Watch Video Solution

https://dl.doubtnut.com/l/_IOrxWeuNzEHS
https://dl.doubtnut.com/l/_y1i42v51c0q2
https://dl.doubtnut.com/l/_B0oiN8wfRMes


118. Arrange oxyanions of chlorine in decreasing

order of stability.

Watch Video Solution

119. Arrange hypohalous acids in decreasing order

of acidic nature.

Watch Video Solution

120. Arrange hypohalous acids in decreasing order

of stability.

https://dl.doubtnut.com/l/_AFgOP3Nen9S1
https://dl.doubtnut.com/l/_MLTQyVazmOtC
https://dl.doubtnut.com/l/_VqMcxBbBwBOT


Watch Video Solution

121. Arrange hypohalous acids acids in decreasing

order of oxidising nature.

Watch Video Solution

122. What is the order of polarising nature of noble

gases?

Watch Video Solution

https://dl.doubtnut.com/l/_VqMcxBbBwBOT
https://dl.doubtnut.com/l/_leFFnTe3aa5y
https://dl.doubtnut.com/l/_myKy6q7zOXqf


123. What is the order of boiling point of noble

gases?

Watch Video Solution

124. What is the order iof ionisation enthalpy

values of noble gases?

Watch Video Solution

125. State the hydridisation of central atom in

XeF2 and XeF4 molecules.

https://dl.doubtnut.com/l/_0XysTot6x3sZ
https://dl.doubtnut.com/l/_cEfdkQMpvOWK
https://dl.doubtnut.com/l/_nOaqt4I9Zy46


Watch Video Solution

126. State the total number of electron pairs

surrounding the central atom in XeF2,XeF4 and 

XeF6.

Watch Video Solution

127. Name the first noble gas compound.

Watch Video Solution

https://dl.doubtnut.com/l/_nOaqt4I9Zy46
https://dl.doubtnut.com/l/_BRImvkmmUH8X
https://dl.doubtnut.com/l/_5migrKug4tSO


128. Give the name of six noble gas compounds

known to you.

Watch Video Solution

129. Why Xe forms more compounds than Kr?

Watch Video Solution

130. why only F and O form compounds with Xe?

Watch Video Solution

https://dl.doubtnut.com/l/_stnpoWoxFkNt
https://dl.doubtnut.com/l/_wK09Rfuq9K2H
https://dl.doubtnut.com/l/_KJaqF0s9NF8U
https://dl.doubtnut.com/l/_QQSZgZYjsUJg


131. Why He, Ne and Ar do not form compounds

while Xe does?

Watch Video Solution

132. What does life saving mixture for an asthama

patient comprises of?

Watch Video Solution

133. Give the name of noble gas which is commonly

used in xrygenic studies?

https://dl.doubtnut.com/l/_QQSZgZYjsUJg
https://dl.doubtnut.com/l/_XDIshCZG0HA0
https://dl.doubtnut.com/l/_RhTkZr5vTy4g


Watch Video Solution

134. Xenon hexafluoride react with silica to form a

xenon compound (X). The oxidation state of Xe in

(X) is

Watch Video Solution

135. How does the ionic/covalent character of the

compounds of a transition metal vary with its

oxidation state?

Watch Video Solution

https://dl.doubtnut.com/l/_RhTkZr5vTy4g
https://dl.doubtnut.com/l/_Q8XhwGBK9dsK
https://dl.doubtnut.com/l/_rNissO9odgvd


136. Name the elements which are not really

transition elements but are discussed with them.

Why is is so?

Watch Video Solution

137. Copper (I) compounds are white and

diamagnetic while copper(II) compounds are

coloured and paramagnetic. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_U4dl7XeaTYLD
https://dl.doubtnut.com/l/_1uF2X6QiylaB


138. What happends when chromates are kept in

acidic solution and dichromates in the alkaline

solution?

Watch Video Solution

139. The most common and stable oxidation state

of a lanthanide is

Watch Video Solution

https://dl.doubtnut.com/l/_7ptFak8euhMG
https://dl.doubtnut.com/l/_lEGuFM2LdIgR


140. In the transition series, starting from

lanthanum La(Z = 57), the next element hafnium 

Hf(Z = 72) has an atomic number of 72. Why do

we observe this jump in atomic number?

Watch Video Solution

141. Why does vanadium pentoxide act as a

catalyst?

Watch Video Solution

https://dl.doubtnut.com/l/_BOKEhZXwKVVo
https://dl.doubtnut.com/l/_ZWOiw4fafYQK


142. The size of the trivalent cations in the

lantlianide series decreases steadily as the atomic

number increases. What is this known as?

Watch Video Solution

143. Give the general electronic configuration of

actinides.

Watch Video Solution

144. Write any two uses of pyrophoric alloys.

https://dl.doubtnut.com/l/_QMAplYmJf2Qx
https://dl.doubtnut.com/l/_hiU54c19l8YB
https://dl.doubtnut.com/l/_t55nu3aUpqoI


Watch Video Solution

145. What is the maximum oxidation state shown

by actinides?

Watch Video Solution

146. Name one ore each of manganese and

chromium.

Watch Video Solution

https://dl.doubtnut.com/l/_t55nu3aUpqoI
https://dl.doubtnut.com/l/_C0wUpVcqos5X
https://dl.doubtnut.com/l/_8k5acH6JeAXd


147. In the transition series with an increase in

atomic number, the atomic radius does not change

very much. Why is it so?

Watch Video Solution

148. What is the effect of increasing pH on 

K2Cr2O7 solution?

Watch Video Solution

https://dl.doubtnut.com/l/_Wb2fLslpOO0i
https://dl.doubtnut.com/l/_oOppeVFoORkx


149. What is the basic difference between the

electronic configuration of transition and inner

transition elements?

Watch Video Solution

150. Why do transition elements show similarities

along the horizontal period?

Watch Video Solution

https://dl.doubtnut.com/l/_TkuEKdOONx84
https://dl.doubtnut.com/l/_M9JghxeSLAzt


151. Out of Al, Zn,Mg and Fe, which is the

densest element?

Watch Video Solution

152. Why do transition elements configuration of

the element with atomic number 102.

View Text Solution

153. Explain why transition elements have manuy

irregularties in their electronic configuration.

https://dl.doubtnut.com/l/_hYkVKUcXfWTr
https://dl.doubtnut.com/l/_JQtfDqT86aMM
https://dl.doubtnut.com/l/_4O1YjNkwkBIk


Watch Video Solution

154. The paramagnetic character in 3d transition

series elements increases up to Mn and then

decreases. Explain why.

Watch Video Solution

155. Scandium forms no coloured ions, yet it is

regarded as a transition elements. Explain why?

Watch Video Solution

https://dl.doubtnut.com/l/_4O1YjNkwkBIk
https://dl.doubtnut.com/l/_HbHLzPaULXUS
https://dl.doubtnut.com/l/_o2coaxPfU6r8
https://dl.doubtnut.com/l/_U2zCE5NZHpBZ


156. Assertion : Hydrochloric acid is not used to

acidify a KMnO4 solution in volumetric analysis of

Fe2+  and C2O
2−
4  because. 


Reason : Part of the oxygen produced from

KMnO4 and HCl is used up in oxidising HCl to 

Cl2.

Watch Video Solution

157. Why Sm2+ , Eu2+  and Y b2+  ions in solution

are good reducing agent but an aqueous solution

of Ce4+  is a good oxidising agent?

Watch Video Solution

https://dl.doubtnut.com/l/_U2zCE5NZHpBZ
https://dl.doubtnut.com/l/_4XmRtiX2DBni


158. Why is the separation of lanthanide elements

difficult?

Watch Video Solution

159. The second ionisation enthalpies of both Cr

and Cu are higher than those of the next element.

Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_4XmRtiX2DBni
https://dl.doubtnut.com/l/_B7x5LEVY5fux
https://dl.doubtnut.com/l/_Q2r8ldiaYxxB


160. Name the compound used for measuring the

hardness of water, i.e., for estimation of Ca2+  and 

Mg2+  ions.

Watch Video Solution

161. How will you distinguish between the following

isomer pairs? 

(a). (i). [Cr(NH3)5Br]SO4 and (ii). 

Cr(NH3)5(SO4)]Br 


(b). (i). [Co(H2O)6]Cl3 and (ii) 

[Co(H2O)5Cl]Cl2H2O 


(c). (i). cis[Pt(NH3)2Br2] and (ii) trans

https://dl.doubtnut.com/l/_Su0mJM9bLiTK
https://dl.doubtnut.com/l/_0n1jLtHrnLEM


[Pt(NH3)2Br2] 


(d). The two enantiomers of [CrCl2(en)2]
⊕

Watch Video Solution

162. The magnitude of stability constant gives an

indication of the stability of ______in____ .

Watch Video Solution

163. What are the most common coordination

numbers encountered in coordination compounds?

Watch Video Solution

https://dl.doubtnut.com/l/_0n1jLtHrnLEM
https://dl.doubtnut.com/l/_P2bD89Exmzqx
https://dl.doubtnut.com/l/_dLGNw4tt1RMe


164. Name the central atom present in

haemoglobin and chlorophyll.

Watch Video Solution

165. Wilkinson's catalyst is used as a homogeneous

hydrogenation catalyst for the conversion of

alkenes to alkanes. It is a complex of

Watch Video Solution

https://dl.doubtnut.com/l/_dLGNw4tt1RMe
https://dl.doubtnut.com/l/_Oa8nzjc7Z9P0
https://dl.doubtnut.com/l/_rUwOmjjvQ8Sp


166. What is spectrochemical series?

Watch Video Solution

167. What is crystal field splitting energy? How does

the magnitude of △0  decide the actual

configuration of d orbitals in a coordination entity?

Watch Video Solution

168. What are t2g  and eg  orbitals?

Watch Video Solution

https://dl.doubtnut.com/l/_K6jsGsaX23A8
https://dl.doubtnut.com/l/_GYz0AYsLA2WW
https://dl.doubtnut.com/l/_XU3FSMWBNFTk


169. Give the geometry and magnetic character of

[NiBr4]
2−

Watch Video Solution

170. How is tetrabutyl tim prepared?

Watch Video Solution

171. What is te coordination number of Fe in

[Fe(EDTA)]ɵ ?

https://dl.doubtnut.com/l/_XU3FSMWBNFTk
https://dl.doubtnut.com/l/_9zK8dhXgAyHH
https://dl.doubtnut.com/l/_nyElTPH9SLcc
https://dl.doubtnut.com/l/_57WiRHglFhIr


Watch Video Solution

172. Name the two broad categories of

organometallic compounds.

Watch Video Solution

173. In the formula Fe(η5 − C5H5), what does the

prefix η5 denote?

Watch Video Solution

https://dl.doubtnut.com/l/_57WiRHglFhIr
https://dl.doubtnut.com/l/_VuwYIuyEWHt4
https://dl.doubtnut.com/l/_OgLHcHHDN79u


174. Give names of two complexes which are used

in medicines.

Watch Video Solution

175. Name the ionisation isomer of

[Cr(H2O)5Cl]SO4.

Watch Video Solution

176. Which is used in cancer chemotherapy? .

Watch Video Solution

https://dl.doubtnut.com/l/_Y8umUIppRp72
https://dl.doubtnut.com/l/_4pnhrj4Y4aKq
https://dl.doubtnut.com/l/_mwHbhkoX2XcW


177. What is the solution in which photographic

film is washed? What reaction takes place?

Watch Video Solution

178. Why complexes are prefferred in the

electrolytic bath for electroplating?

Watch Video Solution

https://dl.doubtnut.com/l/_mwHbhkoX2XcW
https://dl.doubtnut.com/l/_hC7MyIIz58pw
https://dl.doubtnut.com/l/_fyOvE41JdSdW


179. What happens when potassium ferrocyanide

solution is added to a ferric salt solution?

Watch Video Solution

https://dl.doubtnut.com/l/_LlzZoZKy5KK1

